

Page 1 of 1

Florida Department of Transportation

Vendor Ranking

Letting: 01220818 August 18, 2022 11:00 AM **Call Order:** 002 **Contract:** E1V63-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272917295 (*)

Contract Desc: Mowing, Litter Removal and Edging

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$1,054,129.48	100.00%
2	WALKERS SERVICE INC	Responsive	Non-Winning Bid	\$1,486,880.18	141.05%
3	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$1,508,822.52	143.13%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 01220818 August 18, 2022 **Call Order:** 002 **Contract:** E1V63-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272917295 (*)

Contract Descr: Mowing, Litter Removal and Edging

The work under this Contract consists of Mowing, Litter Removal, and Edging.

Line No / Item ID Item Description		Alternate Q	Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) WALKERS SERVICE INC		(3) SUPERIOR LANDSCAPING & LAWN SE	
	dicates item is b	id as Lump Sum	• · · · · ·	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC	;				
0005 LITTER	E107 1 1 REMOVAL		17,110.000 AC	7.00000	119,770.00	14.00000	239,540.00	17.11000	292,752.10
0010 MOWIN	E107 2 1 NG (LARGE MA	ACHINE)	9,834.020 AC	14.00000	137,676.28	29.00000	285,186.58	35.00000	344,190.70
0015 MOWIN	E107 2 2 NG (SLOPE)		1,529.520 AC	160.00000	244,723.20	175.00000	267,666.00	122.00000	186,601.44
0020 MOWIN	E107 2 3 NG (INTERMED	DIATE MACHINE	5,551.600 E) AC	70.00000	388,612.00	72.00000	399,715.20	71.00000	394,163.60
0025 MOWIN	E107 2 4 NG (SMALL MA	CHINE)	194.860 AC	100.00000	19,486.00	110.00000	21,434.60	71.00000	13,835.06
0030 EDGIN	E110 32 2 G		2,877.240 MI	50.00000	143,862.00	95.00000	273,337.80	96.37000	277,279.62
		E MACHINE Se	ction Totals:	•	\$1,054,129.48		\$1,486,880.18		\$1,508,822.52

MOWING (AC)



Florida Department of Transportation

08/18/2022

Page 2 of 3

Tabulation of Bids

Letting:	01220818	August 18, 202	2 C	all Order: 002		Contract:	E1V63-R0	
Line No / Item Item Descripti		e Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) WALKERS SERVICE INC		(3) SUPERIOR LANDSCAPING & LAWN SE	
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$1,054,129.48		\$1,486,880.18		1,508,822.52



Florida Department of Transportation

08/18/2022

Tabulation of Bids

Page 3 of 3

Letting: 01220818 August 18, 2022 **Call Order:** 002 **Contract:** E1V63-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.